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What are various modes of data transfer between
CPU and I/o devices ? Explain in brief.
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Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.

Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question
carries 4 marks.
gu-B & afl uig gel & SR <, UAD U BT 9H 4 3B 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & uft ufg gl & SR <, IS U BT 99 635 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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9.

10.

What do you mean by fetch cycle, instruction cycle,
machine cycle, interrupt acknowledgment cycle ?

6
% A, e ash, AT =@H, gIR<
UEHAldSi~ 9% 4 T Aded & ?

OR(3721dT)

Discuss in brief (with their advantage and
disadvantage).

(1) RISC

(i1) CISC

Y § Y (AT AR 9 & dR H)
(i) RISC
(i) CISC

An instruction is stored at location 300 with its
address field at location 301. The address field has
the vale 400. A processor register R1 contains the
number 200. Compute the effective address if the
addressing mode of the instruction is

(1) Direct 6

(i1) Immediate.

NT3019

(i)

(1i1)

(iii)

(iv)

3 1618304

8085 BT HIF AT Tl Ifovex et
IR & fag goq =& 2|

(31) SIRT Wl T

@) D T

() refiferyl & wadT

(%) RS gl

Cache memory works on the principle of
(a) Locality of reference

(b) Locality of data

(c) Locality of memory

(d) Locality of reference & memory

D9 44N fHa Rigid R &M &=ar 2 |
(a1 eNoferdY 3w IB™

@) disferdt i srer

(|) eieferd) aife a9

(%) araferd) e IHIY AR AT

Which of the memory holds the information
when the power supply is switched off ?

(a) Dynamic RAM

(b) Static RAM

(c) EEROM

(d) None of the above
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GROUP -C

Answer all Five Questions.

aft ufg gl & SR T ox5=30
7. Convert into binary-
(a) (0.375),,
(b) (0.54545),,
(c) (38.210),,
6

s A uRafda & |
(@) (0.375),

(b) (0.54545),,

(©) (38.210),,

OR(3721dT)

Convert into decimal
(a) (73)q

(b) (125)q

(©) 3316

NT3019

(vi)

(vii)

(vii)

(viii)

5 1618304

ATsHd LI T db-e SuATT fear
SITdT 2 |

(31) ST IMuRd SIer graw)
(3) DMA 3renfRd STel giam

(4) dles #is MeRd SIET STaH
() =9 9 wuh

Which of the following is not a characteristic
of a RISC architecture.

(a) Large Instruction Set

(b) One Instruction Per Cycle

(c) Simple Addressing Modes

(d) Register-to-Register Operation

frr=fafRaa & 9 @19 RISC aRg@dl &)
faeryar «d 2 ?

(31) oot g AT

(@) 99 SR R Arsfed

(@) River o7 As

(]) e T forer JAfweE

Associative memory is some times called as-
(a) Content Addressable Memory

(b) Cache Memory

(c) Main Memory

(d) Virtual Memory
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OR(3721d)

With the help of block diagram, discuss working of
direct memory access (DMA) ?

il ARG B A 9 ydel A9 tRg
(DMA) @ &1 4R g4l & |

What are the advantages and disadvantages of

hardwired and micro programmed control ?
4

gl di¥s 3R Argshl U™ deld d Bl
MR A FAT B |

OR (3121a1)
Define cache memory.

@3 79N B gRwI &Y |

Define interrupt and discuss its type.
4

qET (interrupt) ® IRENT &R 3R 39D
gHRI W T4 & |

NT3019

(x)

(xi)

(xi)
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() rfazarafra

(W) aga el

(?) azg AIRer 3

An instruction code is

(a) An output of a programme

(b) A group of bits that instruct the computer
to perform specific operation

(c) The digital circuit that instruct the

computer to perform specific operation
(d) None of the above

Wﬁﬁf‘ﬂﬁ@%:—

(31) YR &1 3Mseye

(@) facH &1 e wqE ol H*YR BI
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(xix)

(xix)

(xx)

(xx)

12 NT3019

Booth's algorithm is used for:
(a) Division

(b) Multiplication

(c) Subtraction

(d) Division and Multiplication

91 YenRen AT fear srar 2:—
(31) fawTS=

(@) o

(|) @cra

() fawre &R [vH

The instruction that does not need any address

field is:

(a) Three address instructions
(b) Two address instructions
(c) One address instructions
(d) Zero address instruction

qg fader R fef ) gar wies A
ATATIHAT T8l B:

@) 9 ua @ fadw

@)  w »

(@) & ud & e

@) = wd & fdw

NT3019

(xiv)

(xiv)

(xv)

(xv)

9 1618304

A memory that is the part of a Control unit
is known as -

(a) Internal Memory

(b) External Memory

(¢) Command Memory

(d) Control Memory

A9 W1 wgla give o1 faear 2
@) araRe A8

(@) ar=d A9

(d) wars AE

(]) ®wgra A9

A group of eight bits is known as
(a) Nibble

(b) A byte

(c) An Octet

(d) Both (b) and (c)

e fdcH & e 9z &I fHa vu A
ST SIrar 8 2

(a1) s

(@) & a1ze

(d) & Adce

(?) A @) 3% (W)
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